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1 TIME & PLACE is April 1st 1809

2 STRATEGIC  BACKGROUND

a. Napoleon has become bogged down fighting the allies in the Iberian peninsula 

b. Austria has seized the opportunity to take revenge for its 1805 defeat, in the first instance by invading the territory of France’s Bavarian ally. However, their army has moved very slowly into Bavaria. 

c. Himself still on the road from Spain, Napoleon has decided that the best form of defence is attack. Accordingly, he has sent Marshal Davout to establish a bridgehead over the Danube, which he can reinforce on arrival with more troops.
d. The Austrians are thought to be concentrating with the aim of destroying the bridgehead before it can be further exploited. 

3 GEOGRAPHY

a. The mapboard charts an area of level plateaux intersected by shallow valleys, often wooded and marshy in the valley bottoms. 
b. There are a number of stone villages, each with a church and belltower. 

c. The Danube flows from west to east a couple of miles off the northern edge of the mapboard. 

d. The Danube is presently bridged in several places by pontoons over which Davout’s men have crossed, and which Napoleon’s men are expected to cross upon their arrival. 
e. Mapscale is 600 yards per hex, ie about three hexes to the mile. 

4 WEATHER 

a. The usual Spring weather has resulted in watercourses carrying a fair amount of water. They can be forded, with delay and disruption, by infantry and cavalry, but artillery and suppy wagons can only cross at established fords and bridges. 
b. The Danube can only be crossed by established bridges and fords, or by pontoons. Establishing a new pontoon bridge will take between 12 and 24 hours and requires the equipment of course. 
5 TECHNOLOGY

a. Infantry and cavalry can fire only at enemy in the same hex. 
b. Light infantry are assumed to have some rifles which can fire into adjacent hexes 

c. Artillery can fire roundshot a maximum of three hexes though only really effective over two hexes, especially if unsighted. 
d. Artillery can fire grapeshot into the next hex 

e. Artillery can fire canister shot into the same hex; this is lethal at close range and no infantry, save possibly guards, will advance into it. 
6 TACTICS

a. Infantry can be vulnerable to cavalry charges unless in square formation; only Lancers have much chance of disrupting a formed square. 
7 OTHER DATA KNOWN TO BOTH SIDES
a. The customary unit of manoeuvre is the Army Corps comprising 10-12 infantry brigades,  4-5 cavalry regiments and perhaps 2 artillery batteries. 
b. There will also be an army reserve under the direct command of the C in C. 
8 SIDE SPECIFIC DATA will be supplied on the day – these will include starting positions, and an OOB for each side. 
